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3. /cot3 acsc®ada =

1
(a) lcsc3a—gcsc5a+0

3
(b) zcscta+-csca+C
3 5
(c) lcsczoﬂ—lcsc‘ioz—i—C'
) /!
1 1
(d) §csc2a—zcsc4a+0

1
(e) chc"‘a +C

. : 1 12.'5 :
4. The improper integral L dz is

(a) convergent and its value is e?/4
(b) convergent and its value is e*/8
(c) convergent and its value is e/2
(d) convergent and its value is e

(e) divergent
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2 :
5. The length of the curve z = §y3/ 2fromy=0toy =3is

(a) =

6. The set of all values of P, in interval notation, for which

o0
the series 3 n(1 + n?)F is convergent, is
n=1

(a) (—o0,-1)
(b) (0,00)
(¢) (=00,0)
(d) (1,00)

(€) (=00,1)
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7.  The interval on which the curve y = fgx T+t+1

Page 4 of 14

1
t+t2

dt is concave upward is

8.  If the region bounded by the curves y = 4(x—1)* and y = 4
is revolved about the line x = —1, then the volume of the

solid generated is given by

(a) /02 27 (8x — 42%)(z + 1) dx
(b) [ 2n(8z —42®)(z + 1) de
(© [ 16n(z—1)"dz

(d) f02 8m(z —1)*(z + 1) dzx

() [ 8n(z—1)Xz+1)dz
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9.

10.

The volume of the solid obtained by rotating the region
bounded by the curves y = z and y = /= about the line
y=1,1is

—
=2
g
= I

N[N Wy

S
N

NS

1
The average value of the function f(x) = 3 sinz sin 2z on

the interval [—g, g] is

w Gt
O =
© L
© 2\/35:4




12.

The area of the surface obtained by rotating the curve
y =/, 2 < 1 < 6, about the z-axis, is equal to

497
3

o
3

497

797

1017

6

]

x2

) +c
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13.  The radius of convergence of the power series

o
> 2"nP(z + 1)*, where p is a constant,

n=0

18

——
o5
S
DI =

P ™
)
N
|

% 1+ sin?n

14.  The series —_—
n=1 N + 'n'\/H

(a) converges by the comparison test
(b) diverges by the integral test

(c) is a convergent geometric series
(d) is a convergent p-series

(e) diverges by the root test
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15. 21?1(7%3—):
@ &
®) 3
© 3
@ 3
(e) 1

16. The error of using the sum of the first 10 terms to approximate
o0

the sum of the series can be estimated as a
ng] vni+1

number in the interval

(a) (0,0.1)
(b) (0.1,0.2)
(©) (0.2,0.3)
(d) (0.3,0.6)

(e) (0.4,0.5)
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17.

18.

The smallest number of terms, needed in order to find the

(="

32

oQ
sum of the series
n=1

(a) 100
(b) 50
(c) 10
(d) 150
(e) 200
The series 22 (;117);

(a) converges conditionally

(b) converges absolutely

(c) diverges

(d) is a convergent geometric series

(e) is a divergent geometric series

Page 9 of 14

with |error| less than 0.001, is
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© (4 n
19.  The interval of convergence of the power series 3 ( 93;; D
n=1
18
[ 1
@ |39
1
-1
® [
1
—2.0
(C) ( 2’ )
1
@ (3
1
@ [-39)
T

20. The power series representation for the function f(z) = 91 22 is

;%.j: (_1)n (§)2n+1

() %0

x

) -0 )"

© 0 (™

@ Syt
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21.

22.

The first three nonzero terms of the Taylor series of

f(z) = sin(2z) about a = g are given by

0 - b3 -3
(b) 1_2(3;_12{)%(%%)3
0 -3ty -5l

S

If the Maclaurin series of (1 + z)¥? is
A+ Br+Cz*+ D3+ Ez*+ -+,

then D+ E =

(a) ~198

0 o

© 15

(d) 16

(€ —153
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fl 1+tanx+m2

-1 1422 dz =

23.

(a) 2
(b) 0
(c) 1
(d) 3

(e) 4

94. The area of the triangle bounded by the lines
y=z, y=-3¢ andy=—x+2

is equal to

(a) 2

ol = b =
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x
25. dr =
f\/3—2:c—a:2 *

26.

(a) —V3—2m—x2—sin"1(x;—1)—|—0
1

(b) V3—2$—m2+cos_1($; )+C

(c) —\/3—2$—m2+sin($;1)+0
1

(d) V3—2x+3:2+cos‘"1($; )+C

() V3-2z—-x*+C

_ _ 3 3drx _
The improper integral fo R is

(a)

divergent

convergent and its value is In4
convergent and its value is In3
convergent and its value is In 2

convergent and its value is 0
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97 The limit of the sequence defined by s, = - sin

o0
98. The series Y (—1)"
n=1

1

is equal to 2
is equal to 0
is equal to 1
oscillates between —1 and 1

is 00

nl+n
(n+ 1)!

converges conditionally
converges absolutely

diverges by alternating series test

. x pl4n
diverges because

n=1 (n’ + 1)'

b \°L_°: n!
converges pecause
8 n=1 (n + 1)!

diverges

converges
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(2n + 6)

(n+1)




